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Numerical Example to Compute Percentile
Given the data set 3,6,9,12,15,18,21,24,27,30,33,36,39,42,45,48,51,54,57,60 calculate the 30th and
60th percentile .

Percentile

Percentiles are those values of the variate which divide the distribution into 100 equal parts,
therefore number of percentile is 99.
30th percentile is denoted by P30 and to compute its formula is P30 = ( 30x(n+1)

100 )th observation.
There are 20 observations so n=20.
Then P30 = ( 30x(20+1)

100 )th observation=6.30 = 18+0.30*(21-18)=20.10
60th percentile is denoted by P60 and to compute, its formula is P60 = ( 60x(n+1)

100 )thobservation.
Then P60 = ( 60x(20+1)

100 )th observation=12.60 observation = 18+0.60*(39-36)=37.20
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